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() Itis good to set our watch 5-10 minutes ahead

)

when we set it 3-4 minutes ahead

We shall disregard the time displayes by pur clock

(d) Optimist is a person who always thinks positively is
called
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@
of Bihar, Bengal and Odisha under the Bengal Presidency
of British India.

(@) Cuttack is called the 'Millennium City'.
(c) the city from flood.

We should have 10-15 minutes for unexpected delays
The author wants the watch to be accurate

Exact means Accurate

Detain is similar to Delay

Unpredicted is Unforeseen

Swiftly means Fast

Optimist

True

build, repair and maintain vessels from the provinces

(¢c) Maritime traditions, vessels, boats and other related
artefacts can be seen in the 13 galleries of the Museum.
(@ moat means deep wide narrow channel filled water to
prevent any attack

(c) Today, the ruins of the fort have only the fort and the
palace.

(@ Synonym of decay is Rot

() Azan will say that there was no boy in the class

() Rashid said that he can work for seven hours daily
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() he said that he had passed the examination long
before

(b) have been living (PRESENT PERFECT
CONTINUOUS TENSE) RULE: has/have +been +Ing

©
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representation

is playing (is/am/are + verb + Ing)

have told (has/have + past participle of tell)
Start by introducing the topic

Using Logic

It helps to analyse

Easy way to study pictorial representation
Introduction, body and conclusion

It is a paragraph that gives analysis of the pictorial

(@ Everyman has two obligations, one is to his family
and second to his community and country.
(d In South Africa if a coloured man tried to fulfil his
obligations, he was punished and isolated.

@

from their families and were forced to live alife of isolation and

Those who tried to fulfil these obligations were ripped

rebellion.

(@) civil and humane society is needed to fulfil these
obligations.

(c) free

(@) his only hope that was on almighty as he was the
only one who could save him now.

(@ oxofaman isreferred here when we talk about lencho
as a hardworking farmer.



38. (b) Lencho decided to write a letter to the god as this 48. (c) 'Leopard'.
was the best possible option. 49. () Antonym of'LEAP'isFall
39. () he asked for 100 pesos 50. () Antonym of Beast is idol
40. (a) ballsofice from the sky 51. () ALLOFTHEABOVE
41. (a) Thenoble wild beast is Bengal Tiger here. 52. () No, Anil didn't mind his petty ways of earning money
42. (a) Thisbeastlooks like itis coloured with black stripes 53, (a) Meaning of Queer is 'STRANGE'
on a yellow ground. 54. (@d Anil
43. (¢) 'discern' 55. (a) A Careless Man
44. (a) 'How to Tell Wild Animals' is the title of the poem. 56. (@ Both (a)and (c)
45. (¢) The poetis Carolyn Kleene 57. () 600
46. (a) The leopard can be recognised by its spots on the 58, ® NO
skin. 59. (@ Anil would feel Sad about finding out
47. (a) Bengal Tiger has black stripes on a yellow ground ¢ @d Returned it

while the Leopard has round black spots on the body.



